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(100m)

10m

0.04 0.08

0.04

0.02

0.03

0.025

0.025

3-4

5)

1/25000
3-5

16

Im
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1/2500
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3-4

1km

5 NOAA(1988)

2 Smith and Sandwell(1977)
1km Jobc
http://www.jodc.go.jp/index_j.html 500m

3-5
1/25,000 10m
1/50,000
50m 1/25,000
1/25,000
1/2500 Im
( )
3-6 ( )
10 1994
10 1994
10 1994
2.5m
500m
3-7
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JODC
500m J-DOSS WGS84
250m 1:1000000 1:200000
250m
125m 1:1000000  1:200000
50m 1:10000 1:50000 1:50000
50m
1:25000 1:10000
25m
25m
10m
50m 50m 1/25000
25m 1/25000 1/25000 25m
1/10000 1/5000
10m 10m
5m 5m
25m 172500 1/5000
2.5m
3.1.2
7
Manisinha and Smylie(1971)
Manisinha and Smylie(1971) 3-4
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3.1.3

=

[ 4 (x1,x2,x3)

Manisinha and Smylie(1971)

v

[ (x1,x2,x3) (ul,u2,u3) ]
[ (x.y:2)
3-4
leap-flog
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TX/p, Ty/p xy
g:

3.1.4

1896 leap frog

0 ( 3-5)
3-6

3-5 ®

9

dry

2 3-7
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A

v
Wet,Dry

Wet,Dry Dry

ry:n (i, §)+max{hy(i, ), (i,J),
hGi+L,0),h(iLG+1D)} O

PRI ets G-, ) maxdhCi-1,).

h(i-1,5),h(7,3),hy(i-1,j+1)}>0

n: h
A
D
Wet Dry
— D@, j)=hy(i,)+max{n (i,§), n (i-1,1)}
D(i.j§)
D@i.j) 0- Q=0
D(i,j) 0-

Q

(0(i,j) 0-Wet )
R x FbiE (—i)
D:
No
Yes
3-6 R
n (i-1,j)

n (i

3-7 2
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3.2

3-8
3-8
10)
11)
O
7
14)
X
Andru 16)
10)
10)
11)
(@]
7
(@)
7
14)
(e}
X
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3.2.1

1)

G-3)

II.SH

(3-3)
n=15H
p=11p,9H
n: 0 (m)
H: (m)
p: (kN/m )
Po: (tYm?)
g: (m/s?)
Hy [\
N
3-8
¢ P
n =3.0h
p=30p,0h
n: 0 (m)
h: (m)
p: (kN/m )
Po: (Ym?)
g: (m/s?)

D

il

1.1pgH
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_>
—» 3h
v
h
f «——
3.0p gh
3-9 12
(3-5) B
n = 3ah
pm (z) = 2.2-(ah - z/3)ap g OSahis3
z
m(z) = 2.2-ah - ¢ —<0
pm () r9
n: 0 (m)
ah: (m)
pm(z) : (kN/m )
z:
Po: (tm?)
g: (m/s?)
z z z
a=136 :(0<=<3) a=136-(1+052--) (-05<=-<0)
ah ah ah
Naa
a=10 '(ah <-0.5)
,/ 3ah
! —3
I 2.2 Ip g ah
3-10 13
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)]

(3-6)

(3-3)

n=125H,
p=1.5wH,
n: (m)
H : (m)
p: (thn )
w: (kN/m?)
—»
HO ¢ ' \ '
N\ §—>
>
1.5wHo
3-11 4
(3-5)
C.D.L
3.2.2
i)

3-12
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i —ﬁ p5565h55X llllllll} i+1
_ \ A
h, p,C:Mat A~ * ~  CM
ac p CsM + S |at
P, O PN x
A «
i \ o i+1
h ét o llllllllll}
B Palls p0CshgdX ps[qB+an5x)é’[
OX
v * A
p(1— 2)6ZK LN 2
>
3-12 o
1)
-7
Z
e f NS1£1&1S
D D D
Z:
D:
N, : sediment (z#)
° (c/p-1)gd

Uy :
h:
o:
d:
P
S:
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3-9

16

z
Andru(1956) h—s =0.8
0
D z, z, 17
h, o 25h, {usm 1J 71}
Zs 716
Laursen(1960) o ..z [ﬁ+ J
h, h, (tult 2
Neil(1965) z, k(h}” K=1.5
Cunha(1970) D (D K=1.35
Z—DS=1.35 LT
Tarapore(1962) 5 D
ho L s
K=1.0
Z, =1.05KD%%
Larras(1963) s =1.05 K=14
Breusers(1965) Z,=14D
7 N 2—N 2 3/4
Carstens(1966) — = 0.546) ———<—
D Ns _(2Nsc)2
Shen(1969) Z, =0.0022R.*®(m- ) R, = “iD
(1966)
(1969) | Z=-1(F,) Fo=—
ho r r h
(1971) Joh
Zy=h, h, D
Zy D
—2d - 34-09log,, —
(1974) D oy h, D
Za _[2Ns _;1Z«
D Ng D
Zs ho ho F' = u°
(1974) TRy Joh
3.2.3

p= g%‘q HLBtanh 2"

2
s':s—zrti—-coth&m
L L

g

H

S

/

S!
H
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3 7Tl? s

t= |2 \/H 2_g2
p: (kN)
&
Do (t/m?)
g: (m/s?)
H: (m)
L: (m)
B: (m)
h: (m)
T (9
T: (9
l: (m)
s: (m)
s (
| 4
P = p,9(8H —4.5S)
p:
Po’ (ym®)
g: (m/s?)
H: (m) Hmax
S:
10
p=2p,gH
p:
Po: (Ym*)
g: (m/s?)
H: (m) Hmax

10

0| T

(kn/m )

(m)

(kn/m )
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(3-10)

(3-9)

10

3-9)
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Qz = pgV

Qz:  (kN)

P (t/m?)
(m/s?)

< «Q

3.2.4

« )P (3-11)

(m?)

(3-12) 0

oM
F,:
V,:
D:
L:
CMA
=17 A >40%
=0.031+0.5 A < 40%
M :
1
M = 2 pDﬂDZL
Po (= 600kg/m ®)
7o (= Pb g)
o (=19.6MP,)
g
13)
125 0.625
F 2 1
H - 20C,, JH il
gM DL
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2 1% 0.625
On__ 20C,,, VL {i}
gM’ g DL

v =c - 9@ +h)a, +2h)
"TTH Y 2a, +h-k-ay,)

Fy (N)
g (m/s?)
M (t)
Cha (=05)
D (m)
L (m)
V, (m/s)
C, (m/s)
oy (N)
M':
K ( 0.12)
14)
(3-14)
P=01W-v
P: (kN)
W: (kN)
s (m/s)
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2.3

3-13

3-10

3-10

3-13
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3.4

3-14

3-14

3-11

3-14
3-11

3-8

3-12

3-15
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3-11

10)

12)

10)

12)

11)

10)

13)

13)

3-12
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Hu

iy

Hu =Wux Khu

Hu: (kN)
Wu: (kN)
Khu:

2)

(3-16)

gx=211p,0(H)(0< z<WL)

gx=11p,9(H —1—15 z)(z>WL)

(m)

(t/m®)=1.03t/m?

gx: (KN /m?)

Po -

g: (m/s?)=9.8m/s?
H: ~ x 2.0 (m)
z: (m)

WL:

14)

Qu

Hu
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Qu
(3-15)
(3-15)
10)
(3-17) 3-16
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AW r
v, 2
A 4
3-16
Qu=1.1p,0B Ih (H —iz)dz (3-17)
TR w15
1. 1 5
= 1.lpogB{(Hh—§h )— (th—éhp )}(h <wl)

Qu: (KN)

Po’ (t/m)

g: (m./s?)

H: r x 2.0 (m)

h,: (m)

h: (m)

B: (m)

B.

11)
(3-18) (3-19)

3-17

ox = p,9(3H - 2) (3-18)
ox: (KN / m?)

Do (t/m?)=1.03t/ m?

g: (m/s?)=9.8m/s?

H: ~ x 2.0 (m)

Z. (m)
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—>
[ »
3H
3 ¥
h
H hp
/ 3
\ 4/
3.0p gH >|
3-17
h 1 2 2 }
Qu = pogBJ (3H - z)dz:EpOgB{(6Hh —h?2)—(6Hh, —h,?) (3-19)
Qu: (KN)
Po: (t/m?)
g (m./s?%)
H: ~ x 2.0 (M)
h,: (m)
h: (m)
B: (m)
@
Wu Qz Qy
Qz+Qy Wu
1)
Wu (AN) €y
2)
1y (3-20)
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Qz=p,9V = p,gAh
Qz: (kN)
Do (t/m®) =1.03t/m*
g: (m/s?) =9.8m/s”
V: (m®)
A: ()
; (m)

10)

(3-21)

p=2p,9H

p: (kN/m )
Po (t/m?)

g: (m/s?)

H: (m) Hmax

Qy = AP = 2Ap,gH

Qy: (kN)
A: (%

©)

Py Qd

D
SATURN R

SATURN 18)
py

Py = (Wu + 0.5Wp) * Khy
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Py: KN)
Wu ; KN)
Wp (KN)
Khy :
Khy = Bx Ty’ (3-23)
Ty = 2.01x (Wu + 0.3Wp) / Ky)*'?
Ky =axK,
Khy
Ty (s)
Wu ; (KN)
Wp (KN)
Ky (KN /m)
K, (KN / m)
Ky =aK,
By khy = ATy”
3-13 18
a B y a B y
S55 0.39 0.23 -0.463 0.36 0.23 -0.857
S55 0.39 0.25 -0.328 0.30 0.26 -0.796
H2 0.39 0.25 -0.277 0.32 0.22 -0.952
0.39 0.28 -0.240 0.39 0.24 -0.925
B 0.39 0.26 -0.300 0.35 0.26 -0.801
H8 041 0.33 -0.484 041 0.32 -0.611
3El
0~ h3 (3_24)
E: (KN /m?)
| (m*)
h: (m)
|- Axhp” (3-25)
12
I (m*)
A (m?)
hp (m)
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A.
10)
3-26 3-27
3-18
gx=1.1p0g(H) (0O<z<WL)
agx =1.1p0g(H —1—152) (z>WL) 3-26
ox: (KN /m?)
o (t/m?)=1.03t/m?
g: (m/s?)=9.8m/s?
H: ~ x 2.0 (m)
z: (m)
WL : (m)
1.5H
. , !
\/ v
3-18
d=11p,08 [ Hdz+ ["(H -1 2)d 3-2
Qd=11p,0 '[0 z+J.WI( _EZ) z -27

=l.1pogB{(HWI)+{(th—%hp2)—(vaI —%vw Z)H (0<wl < hp)
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Qd: (KN)

Py (t/m)
g: (m/s%)
H: ~ x 2.0 (m)
h,: (m)
B: (m)
B.
11)
3-28 (3-29) (
3-19)
X = p,9(3H - 2) 3-28
ox: (KN /m?)
Po: (t/me)
g: (m/s?)
H: (m)
(m)
3H
h
H P |h
3-19

" 1
Qd:;%gaL%sH-adz=§;%g3k6th—hf)}
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Qd: (KN)
Po (t/m?)
g: (m/s?)
H: (m)
h,: (m)
B: (m)
®
(¢ (3-30))
¢ (3-31))
Mt Mg

1Y)

D
M R— (va +WU ) XE
Mg: (KN -m)
W, : (KN)
W, : (KN)
D: (m)
2)
M; =Q, xh, +Q, ><hp
M;: (KN -m)
Q- (KN)
h,:
Qq: (KN)
h,:
©))

Hu
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1)
HUGKN) (1)
2)

Fu(KN) 12)

1.25
V 2 1 0.625
Fh = gM . ZOCMA|:?:| [ﬁ}

V, =C, = g(a, +h)(a, +2h)
2(a, +h—x-a,)
F, (KN)
g (m/s?)
M ®
Cua (=0.5)
D (m)
L (m)
VH (m/s)
Cyx (m/s)
OH (N)
M':
K 3-20
1.2 ’
1.1 e lole E
'° n=0 CLi0HE
= 09 (m-sec B}
nBEERY
08 i
o7 {
035 T ds 10
M/
3-20 K9
6)

Py
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Fh

1)
A3)
2)
Fu(KN)
@)

®)
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